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And he is a damager - Lmoma ;%% 1M

Overview

XP°X 277 7°72 RnR 21 said that the Xn*72 can mean that the 1% collects from the
1"0212w N 7Y if the 70m retracted (not only 72w n 7°yn); since the pr1 suffered a
loss,> we consider the 7211 to be a P, so the pri (the nP1?) collects 0212w NY7TVA.
Our mdoin qualifies this categorization.
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The 701 is not a P31 precisely, for we do not assess him according to the loss
which he damaged him, for the 121 does not pay (for the damage he caused),’

but only according to the money which he received (the two hundred mr).
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Rather, when we say that the 72m is a PI» we mean that he is somewhat
compared to a P> to the extent that the m2'2 can collect his debt from n>7.

Summary
The 101, by causing damage to the n?, allows the np» to collect from n>7v

1°0212W.

Thinking it over
Why indeed does the 151 not pay him for the loss which he caused?!*

!'In our text, the X3 reads 7720 792 MM (not P72 792 MM).

2 Presumably, the %, in order to raise cash for this large purchase had to sell his assets at a discount; so now that
he is not getting the (entire) field he suffers the loss of the discounted items that he sold.

3 Let us assume that the n»1 sold two hundred and fifty 11 worth of merchandise for two hundred 17 (to purchase the
field); the loss is fifty 11. If we consider the 791 a P (for this loss) he would need to pay the 17 (an additional)
fifty 11 (from n>7°v), but not (merely) two hundred 11 from n°*7°¥! See ‘Thinking it over’.

4 See X"av™ and Mo *WIDN XK # 27 (there seems to be some mistake in that footnote).
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